’L'L’Léf—'?‘}ir/%% fv(p'?r—'>

IRPAAE N
BEALR (Z) B2 23128

13 17
- AT x4+y4=§ £ x2+y2=€’ #E Xy Xy +xy
Sol:
x4+y4:(x2+y2)2—2x2y2, x'+yt= » Xy =—
BTl Xy = +i

TR Xyt ey’ =(X4+y“)+xy(x2+y2)=w.
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Sol: 0<m:>0<(x —5x+6)(x +5x+4)—(x—2)(x—3)(x+1)(x+4)
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Sol:

4 f(x)=x—c—dcos(x) HI

f(c+d)f(c—d)=—-d?*(L—cos(c+d))(L+cos(c+d))<0
FTLA x = ¢ +d cos(x) Z£/0H—EEf#
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Sol:
Let P be P(xq, yo), where yo = xo*xo.
L1: (y+y0)/2 = xo*x
V + Yo = 2X0*X

Let Q be Q(x1, y1), where y1 = x1*x1.
L2: (y+yD)/2 = x1*x
y + vyl = 2x1*x

L1L L2 =2 xe*2x1= -1 x1 = -1/(4x0).
(Note: P, F, Q are collinear, y = 4cy = x°, F(0, ¢) = F(Q0, 1/4))

The intersection of L1 and L2 is the solution of the equations
D) i G—— (D
y + 1/(16x0°) = -1/Q2x0)*x  ----(2)
(2)* 4xo" + (1), we have
(1+4 x)y + (' +1/4)= 0 - (3)
3/ (1+4 x) 15
y =-1/4. ELRTTIEZ0)



